Chapter 14 FE EXAM FORMATTED PROBLEMS
14-1.
The radioactive intensity measured 12 m from a spill is 18,000 times the safe level. At what distance must a safe perimeter be established to prevent access during the cleanup?



Using Eq. 14-22
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14-2.
Determine the radioactive decay constant for radon. The half-life is 3.825d.



Using Eq. 14-7
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14-3.
If the sewer discharge standard for phosphorus-32 is 9x10-6 μCi/mL, how long must a solution containing 0.60 μCi/mL be held to meet the discharge standard? The half-life of phosphorus-32 is 14.3d.



Using Eq. 14-6
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14-4.
What particle is emitted in the decay shown below?




[image: image4.wmf]Th

U

92

234

92

238

®




From Eq. 14-2 



An Alpha particle is emitted since:
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